CENTER CITY QUIZZO
(Answers)

China

. The populations of Boston and Washington which are basically identical are:

d. 40% of Philadelphia’s population

Page 28, Washington's population is 658,000. Boston's 655,000, and Philadelphia's
1,560,000

Which area of CCRAland has the highest level of pedestrian activity?

c. 16™ and Chestnut intersection

Page 32

In rankings of annual growth in private (non governmental) wage and salary jobs from
2010 to 2014, the rankings of Detroit, Baltimore, Chicago and Philadelphia were from
highest (greatest growth) to lowest (least growth):

c. Detroit, Baltimore, Chicago, Philadelphia

Page 45, Detroit's growth, at the national average (2.1%), doubled Philadelphia's (.9%)

In the five years between 2010 and 2015, enrollment in public primary neighborhood
catchment area schools ( I.e. non charter schools) has:

c. increased more than 5%
Page 56, Growth was 8% in greater Center City neighborhood schools from 2010 to 2015

What percentage of the residents of what the CCD terms “Greater Center City” (Girard
to Tasker, river to river) walk to work?

d. Between 20 and 25%
Page 48, 24.5% walk to work

What percentage of the residents of what the CCD terms “Greater Center City” (Girard
to Tasker, river to river) drive to work?

c. Between 30% and 40%

Page 48, 38.7% drive to work



